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(1) Op =My =5kgx1.2x10°F kg =610
(23 my =p, 0, =1x 10%kg /' x 20x107%m° = 20kg

iy = gy (£~1)
=4.2310° T / (kg C)yx 20kg % (85C-10T)
=6.3x10%J
- &
Dar 1000 = B-l(%ix 100% = 10.5%
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L=l +l+1, =034 +044+0.54 =124

I,al, 41, =044+054=094
o=l 1, =034+044 =074
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< (1) T 14

(2) O =mq=02lkg x2x107J / kg =42x10°J

.
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Op = Oy = +2x10°J

. . - L) L]
are Q8 34..,><10°.] o
ety 4.2x10°7 [ (kge'C)x 50kg

{ =l + A =20C+20CT=40C
(3) O =m'g=10kgx2x30"J kg = Ix10%7

W = Q0 = 25%x2x10% =5x107
_W_ 5x107S

= e = e = 50005
P 10x10°W
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